0.0.1 Ormpenenenue
ACNF

Xh(z1,.yxn) = s

0.0.2 Teopema

[Iycts A C NF
A - PIIM & X3 - YPO.

Zloxaszamenvcmso.

Jlekmuu 1o Mariory

Saites Bajaum

{17 < Ti.xpy >EA

=) A-PIIM = 3f - YPD: A=0f
Ny(z1..zpn) = S(O(f(z1...20)))

&) X% -UPD = A =6X}; = A- PIIM.

0.0.3 Ormnpenenenue
f:NF 5N

2010-04-27

Gy = {< zi..xy >| f(z1..7n) = y} - rpadux G-un f.

0.0.4 Teopema o rpaduke

f-UP® & Gy - PIIM.
,ﬂo%asammbcmeo.

=) f(z1..x) - HPD

Xéf (x1..w, 2) =Sg(| f(x1...wn) — 2|) — UPD

<) Gy -PIIM = B -PM, Gy ={<7Z,y >| 3z
X5 - OP®. f(z) = It [58(Xo(, 1(t), (1))

L f@ =y

<T
) =

, Y,z >€ B}

0)

()

<T,y>€ Gy =32:<T,y,z>€ B=3t:t=c(y,z)

= 5g(Xg(Z,1(t),r(t)) =0

Wptl«]) = U(t) =y = f(2)
2. f(T)- me onpejeseHO

Yy :<Z,y >¢ Gy = Vy, V2 :<T,y,2 >¢ B =

=Vt:t=c(y,z2)

<zTI(t),r(t) >¢ B

= [(ut[*]) - HEe ompeesneHa.

<zlt),r(t) >€ B.



0.0.5 Teopema 0 cocTaBHOM OIIp€JIeJIEHUU

AlAn g Nk, Al n Aj =g gl(xlxk)gn(mlxk) - JpPo.
gi(z1..z), TEA

Torma f(z1..x) = { - - YPD
gn(z1..2), TE A

HE OoIpeaesIeHo B II C

Zoxasameavcmeo. A,...A, - PIIM = B;...B,, - PM
A ={<z1..xy >| Iy < x1.., >€ B;}
Xp, - OP®. Moryr ObITb 2 cirydas:

1. g1..-gn - OPD
hT) = uy[(H@(XBi (7,y))) = 0]

1=

(@) =g () -1XB1 (@, hZT)) + ... + X, (T, h(T))

(a) Fi:< xy...wp >€ A;
= dy < xy..28,y >E B;
Yy 1< @1..2pn,y >E B2 (i # j)
=y —min < x1...2%,y >€ B;...

(b)

1 dopmaabHaga apudmeruka Ileano

1.0.6 Omnpenenenue

Yoo =<< 42, % 51,0 >
T(3",) - MHO-BO T€pPMOB
F(3>,) - MHO-BO (bopMyI
S(>°,) - MHO-BO IpeIOXKeHNMii
v; - TIEPEMEHHDBIE

1.0.7 Omnpenenenne (I'énesreBckas HyMmepanusi TepMoB 1 GOPMyJI B CUTHAType ) )

1. v(0) = ¢(0,1)
Y(vi) = c(1,1)

2. 9((1) = c(2,7(1))

3. y(t+q) = c(3,c(v(t),7(a)))
4. y(txq) = c(4,c(v(t),7(q)))
5. 9(t = q) = c(5,c(v(t),7(a)))
6. y(t <q) = c(6,c(v(t), ()
7. () = (7, c(v(9),7(£)))
8. Y(p V&) =c(8 c(v(p),7(€)))
9. (e = &) = (9, c(v(v),(€)))
10. v(—¢) = ¢(10,7(¢))
11 y(Jvip) = (11, ¢(4,7(9)))
12, y(Voip) = (12, ¢(i,v(¥)))

1.0.8 IIpensoexkeue

YT (0))s Y(F (o)), 7(S(220)) - TTIPM.



